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2&FFIq L] :
iy | - _ SECTION A — (10 x 2 = 20 marks)
< CarFmerd &L e 30,000 &H&T 5,000
R e N it R aﬂuu‘r_?,g%] 48,000 Answer any TEN questions.
uiGanLy eugey FLOLIELD . 1.  Who is deemed to be an assessee?
‘g?jgiﬂ”mmaﬂLL&@ﬁg 4,000 HBSSmE ' 6,000 auflelgllins@Nweurts smaslu@ueut wri?
& Dergdedmosl 35,000 @060l @ 60,000 2. What is meant by previous year?
QUTL NS el el - :
@néd @wmuy Cu/GaT 86 000 PHmsWw e[ ereamLgen GlLimFer wirg ?
2,70,000 2,70,000 3.  Mr. Daniel (foreign citizen) comes to India for the first time

. . during the previous year 2022-23 58 days from London and left.
24.. Delineate the usage of permanent a¢count number. Determine his residential status. '

ha] SHeaurd@ ererantlan LiweTun(sener eleuMsseyLb. -
Blrbey © g N A Craflud (Swapr' @ @gwsen) eaavai o afldmbs
(PHEUTPEDIITE (PHEOSW e[ 2022-23 & 58 B &EHHETSE
@rdurellng eupgiei’ B Gn@ Oeampri. oeufer @i
hlenavenids sanfldsaib,

4.  State any two fully exempted allowances.

wyeowwurs aflelese alssiulL gCsab @ramd Ugsmens
@O aib. ‘ '

5.  What is pension?
QRUIQLSWILD GTETMHITE) 6TéiTE ?

6. Mr. Ravi, a State Government employee, receives a commuted
pension of Rs.2,40,000 during the previous year 2023-24.
Calculate its taxable value.

. yefl, wrfle @ms emflur, hosyu ope@r@ 2023-24 &
Ggm@ssiu L @uafluwrs  5.2,40,000 Qupiflprr.  isefer
auflGeqdsssas wilimus sansdlab. . _
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10.

11.

12.

13.

From the following particulars, calculate Gross Annual value.
MRYV : Rs.3,00,000; SRV : Rs.2,50,000; FRV : 2,20,000.

SpsamL  efleugrseiadl(mbsl, Qurss @ wdlenus
samsHab. BaEITL S eum_ens wHi : @5.3,00,000; Heveuwirear
QUTLeng WL : @5.2,50,000 HWMLIOIET GUTL & oL
.2,20,000.

State the following expenses are admissible or inadmissible.
(a) Donation : Rs.10,000

(b) Loss due to negligence of employees Rs.5,000.

Epsar QFaweyseT AWHSSFILGHT SDog SaIndssluL T

- erarUass GO e|h

(@) BeanbsmepL : @p.10,000

(<) eafluiseier @flurawulanme ehUl L BLLID ¢5.5,000.

What is meant by depreciation?

CaWbTend eTeTLS6N TSSHD eTebren ?

What is E-filing?

Weremem eufl FTEsD eremmmed ravTe ?

Expand the terms: (a) TDS (b) PAN.

ugmsemer ellfleungasnd Gsws : (2) TDS (=) PAN.
SECTION B — (5 x 5 = 25 marks)

AnsWer émy FIVE questions.
The following are the details of Mr. Edwin

(a) Dividend from a foreign company Rs.50,000

" (b) Income from agriculture in Australia Rs.1,00,000

(¢) Share of income from business in Trichy Rs.60,000
(d) Income accrued in India but received in. USA Rs.50,000

Determine his total income if he is a

@ ROR
(i) RNOR
(iii) NR.
2 62551/CZ45A/
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afleumisaT a3 1 &30 2 &0 3
b - &
B&yTL Sl el 6,000 3,000 . 1,000

S (p& Cergg sLen

Bgran a1y 17,000 19,000 6,000
LpgIuTTILY 4,000 2,000 500
el yer Cprésid UTLNESHE UTL®&ES Qerhs
Lt Lg el tulLg 2 LCWIN&EEEIG-
srag|

Qurgs S(é Qersder aBLTaASMSS SETEHLG|LD.

23. From the following receipts and payments account of
Mr. Narayanasamy, a chartered accountant, calculate his
income from profession
Receipts Rs. Payments Rs.
To balance b/d 6,000 By office expenses 28,000
To audit fees " 1,80,000 By printing and 37,000
_ | | stationary | I
To consultation fees 30,000 By subscription 5,000
To appellate tribunal 15,000 By staff salary 48,000
. appearance
To presents from clients 4,000 By books 6,000
To rent from house 35,000 By computer with 60,000
property , : - software-
| By balance c/d . 86,000
2,70,000 2,70,000
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¢h.

Qran® GpmssEnssTar so6llLY @ LISSHNE 600
| B&y FLHLUY @6 0TESSNEG 1,000
L®SSIEILILY @6 LIESEDE 600
Gaafléamalig. @ LISSANEG 1,000

22.

SleUmEE s @oor shigb 0d uprsliuEng. Seur
srGasHEIu 2bs 6lHEE@ LIS (h.2,000 eurLamsamw ieufler
uanfl Swisgart Csgsg o, wrssnomaseier oL ss QzTans
£5.20,000 Sjeurymed’ ¢m.1,400 Agmflédeufiuns QegssiLBEng.

smsfssiiul L. GeopoblfléE 15% sbuetdeng UkisaL
Qendpri.  yeuflar uenflwwiggliermpd  sflgnwrar  Qgrenseanw
ukisell iy QEndpm. ‘

Geopa HHuler BSg 12% eully eure| eeusSUULLG (5.2,640

G-
Mr. Anbu’s three house property details are as follows:
Particulars House 1 House 2 House 3

Rs. Rs. Rs.
Rent received 60,000 40,000 -
Municipal valuation 45,000 28,000 15,000
Standard rent 40,000 30,000 - 15.
Municipal tax 6,000 3,000 1,000 '
Interest on loan against ;
house property 17,000 19,000 6,000
Repairs 4,000 2,000 - 500
Purpose of house Let out Letout Self-occupied

Compute the total house property income.
. ey seuisefler eperm SL(hE Qersgissafler elleurniger

Sipeumommi:
el g6 OR! 56 2 aS® 3
&b - WL
eurLeng GlLUpLULILLg) 60,000 40,000 -
BHITLE gl 45,000 28,000 . 15,000
BleneWTaT GUITLans 40,000 " 30,000 =
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14.

. eri_efa eremcifer sHeubse SpeuhLTm:
(S) SWDBTEH ﬁgmgﬁsﬁ]@ﬁ,@ LURISTSTWLD ¢5.50,000
GU(HLD TEUTLD

(@) pevdCrelwrele oder  efeusmusdedBHS!

¢5.1,00,000
@) @&l mpbg eNwimumy eumLorargSlen Lki@ ¢5.60,000

(FF)  @pdlwreile
Quplinl L g ¢;.50,000

Qsm@ssuUL L aibrand, HCwhésreie

eufler Qrss uGBDLIATSMSS SEUSSLaD, el
@) ROR ergyibui sggled

(i)’ RNOR ergyibLil_g58lc0 opmLd

(ii) NR erepbul sggld.

Explain the term “Assessee”. State the different classes of

assessees.

“auflef iy sefweur” UgS S an e eNleTdaa|b.

auflefdiys@Nweaufar LOGan amssmer GDLUIEL 6.

GTeiTMm

Calculate taxable HRA

Particulars Rs.
Basic salary 78,000 p.a.
D.A. (Forming part) 7,800 p.a.
HRA 11,700 p.a.
Rent paid in Chenﬁai 13,200 p.a.

aifl Qsss5855 aILH aUTLamaliLyoWws sarsslLab
odeuUhIGET €.

Sfgliuent & FLOLIETLD 78,000 @I 2@ ES

sl (FUESH DLmdwug) 7,800 gt pET(HES

8L () eumLanasLliLilg 11,700 @rr <, @T(H\SS

Qseremeanded aum s QFausug 13,200 @it <@T(H&S
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16.

17.

18.

Mr. Ravi retired on 15.04.2023 after serving 30 years and
11 months. His basic salary was Rs.18,000 p.m. during 2022 and
Rs.20,000 during 2023. His D.A. was Rs.6,000 p.m. which had
been increaséd from Rs.4,000 on 01.10.2022. 50% of his D.A.
entered into service benefits. He received Rs.4,00,000 as gratuity
which was not covered under the payment of gratuity Act.
Compute the taxable gratuity.

. 76l eremueu 30 eupLmsem 11 wrsrsar Geeveu UMps pE
15.04.2023 et e@lie) Qupprt. eufler gl & gbuemd
2022 b HPeTIiged OIS 5.18,000 HPFD WOHMHID 2023 b
Selmig ) LTSI ¢5.20,000 sa)lb @mEss. eufler isaileneoliig

01.10.2022 NEHg, WIsSHDEG @5.4,000 eadmhbsams WissIDHE
(5.6,000 &6 2 WIiGsHIULL g 50% selamaiiuly eufldar Come

vweiseildr SiLmdlg @b, uallsbarm: Csasssd sl
SILEisTE LanflEQaren 5.4,00,000 Sjeur QupmmT. jeufler eufé
Os@issssss LaflsQaroLmus sarsslab.

From the following particulars, compute GAV.

Municipal value Rs.60,000 p.a.; fair rental value : Rs.66,000 p.a.
standard rental value : Rs.63,000 p-a; Actual
rent : Rs.66,000 p.a.

Date of completion : 30.06.2023. Date of letting : 01.10.2023.

SpsarL efelrhisafad(mhgl, QLrss am® wHlmus samrsdla|b
paEITC S iy @ euGLES D@ @5.60,000; BHlumu aurLms
LALIL : @T YETGHE 65.66,000 A@Gb Hlepewimer eurLens Wi
Dol D@ 563,000 PG L E@EHOWTE @ITLas& : (b

uUBLESDG #5.66,000 HGh &Esllg  (pussiuce Gsdl
30.06.2023. aumLana&@ edlLul L Ggdl : 01.10.2023.

Frqm the following statements, compute the business income
() Commission earned Rs.20,000

(b) Sales Rs.1,20,000

(¢) Purchases Rs.20,000

(d) Staff salary Rs.11,000

() Purchase of a typewriter Rs.8,000
SLps e é{pﬂé;ép&;uﬁ]@ﬂ@(r_‘r@], eSlwruny eu(BLTaTEmNSS SanTésl b
(=) B7G FLUTHSSH 5.20,000
(<) efpuenar @p.1,20,000
(@) Garerapge e5.20,000
() gieues AliLpd buard em.11,000
(o) sLL&& eurhdlwug @.8,600.
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19.

20.

21.

When is the filing of a return becomes a statutory obligation?

GrLJ@uI‘r@gj QU (MHLOTET euf ENEEHD  GTETLIG| &Ll__ulér'r@_ll.orrm
SLanLWTE DS ? ‘ ;

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the features of ‘Income’ in detail.
auporarsdler @uidsaner ellfleuns eflerssaib.
Mr. Gowthaman is working in a public company at Chennai. He

has furnished the following particulars of his salary income for
the PY 2023-24. Compute his taxable salary

Rs.
Basic salary per month 8,000
D.A. (75% is forming part) per month 4,000
Bonus per annum 6,000
Education allowance for his two children per month 600
C.C.A. per month : 1,000
Medical allowance per month 600
Entertainment allowance per month 1,000

He is provided with rent-free accommodation. The rent paid by
the employer is Rs.2,000 per month. Cost of the furniture
Rs.20,000 professional tax paid by him Rs.1,400.

He contributes 15% of his salary towards RPF. His employer
also contributes an equivalent amount. Interest on PF credited @
12% is Rs.2,640. ‘

S, Qsergwer Qeearanande 2 erer Quig Hmwsde ueflyfidpmr.
St gphesll  EH  2023-24  Gsrar  Seudler  sbuer
eSS s sseudseans sLildsdprt. eufiar aufld
Qea1$55565 FbLET aUBLIASmESE Sarddeab

€.
Sg LI & FDLIETD (F sSHHE 8,000
sellemeliulg (75% sbuasdd SLBHug @ LISSSDHES) 4,000
oargs oardluid @(h eU(HLSH DS 6,000

5 62551/CZ45A/

BS45A/AY25D/

CA25A



